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QUESTION 1
An engineer is deploying Dell SupportAssist to manage a data center.

After downloading and installing Dell OpenManage Essentials with SupportAssist, which two steps must be done to
complete this task? (Choose two.)

A. Run DSET script tocollect Dell SupportAssist reports for each server.
B. Make sure the OME server is connected to the Internet.

C. Set up iDRAC to send SNMP alerts to the OME console.

D. Set up iDRAC to send SNMP alerts to SupportAssist cosole.

Correct Answer: BC

QUESTION 2

An engineer is deploying a new server node into an existing chassis for a virtualization cluster. The existing cluster
nodes have many modified BIOS settings to meet workload needs.

How should the engineer quickly deploy the new server node with matching BIOS settings?
A. Use System Setup to configure dynamic profile settings based on workload.

B. Use the iDRAC GUI to replicate from an existing server profile.

C. Use the CMC Server Profiles to clone an existing server profile.

D. Use the Lifecycle Controller to mirror a cluster member profile.

Correct Answer: A

QUESTION 3

A VRTX has the following physical disks:

-8 300 GB SSDs

-10 300 GB 15,000 rpm HDDs

An engineer needs to create two virtual disks for a file server: a system volume and a data volume.

The customer wants to maximize performance of the system volume and maximize redundancy of the data
volume.

The customer also wants both virtual disks to survive one drive failure without the customer\\'s intervention.

Which option is most appropriate to meet the requirements?
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A. System: 7 SSDs in RAID OData: 9 HDDs in RAID 60ne SSD and one HDD as dedicated hot spares for each volume
B. System: 8 SSDs in RAID 10Data: 8 HDDs in RAID 6Two HDDs as dedicated hot spares for each volume

C. System: 6 SSDs in RAID 10Data: 10 HDDs in RAID 6Two SSDs as dedicated hot spares for each volume

D. System: 7 SSDs in RAID 5Data: 9 HDDs in RAID 60ne SSD and one HDD as dedicated hot spares for each volume

Correct Answer: D

QUESTION 4
Network A is on VLAN 10. Network B is on VLAN 20. Physical environment
-Chassis is uplinked to top of rack switch Switch configuration

-The uplink is untagged on VLANs 10

Port 1 of server A on the fabric is untagged on VLAN 10

Port 1 of server B on the fabric is untagged on VLAN 10

Customers on network B must be able to connect to server B but NOT A. Network A needs to connect to servers A and
B.

Which three changes must be made to meet this requirement? (Choose three.)
A. Port 1 of server B needs to be untagged VLAN 20.

B. The uplink needs to be trunked for VLAN 10.

C. Port 1 of server A needs to be untagged VLAN 20.

D. Port 2 of server B needs to be untagged VLAN 20.

E. Port 2 of server A needs to be untagged VLAN 20.

F. The uplink needs to be trunked for VLAN 20.

Correct Answer:. ABE

QUESTION 5

An engineer has a new blade chassis that is ?full. The chassis has six power supplies. The chassis at peak power
usage needs at minimum four power supplies. Redundancy is NOT a concern.

The engineer needs a policy to meet the current needs and provide enough power to a fully populated chassis.

Which policy should the engineer choose?
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A. N+0
B. N+1
C. N+2
D. N+N

Correct Answer: A
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